VCE & PDF https://www.passapply.com/jn0-362.html
2024 Latest passapply JNO-362 PDF and VCE dumps Download

PassApply.com

JINO0-362958AS

Service Provider Routing and Switching - Specialist (JNCIS-SP)

Pass Juniper JNO-362 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.passapply.com/jn0-362.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

@ After Purchase

@ Guarantee

© Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

Latest INO-362 Dumps | INO-362 Practice Test | INO-362 Study Guide 1/5


https://www.passapply.com/jn0-362.html
https://www.passapply.com/jn0-362.html
https://www.passapply.com/jn0-362.html

VCE & PDF https://www.passapply.com/jn0-362.html
2024 Latest passapply JNO-362 PDF and VCE dumps Download
PassApply.com

QUESTION 1

Click the Exhibit button.

[edit protocols bgpl

user@router# show

group ibgp {
type internal:;
local-preference 125;
neighbor 10.1.1.1;
neighbor 10.2.2.2;
neighbor 10.3.3.3;

}

[edit policy-options]
user@router# show
policy-statement bgp-preference {

term 1 {
from neighbor 10.1.1.1;
then {
local-preference 130;
accept:;
}
}
term 2 {
from neighbor 10.2.2.2;
then ({
local-preference 90;
accept;
}
}

Referring to the exhibit, which statement is correct?

A. Routes from 10.1.1.1 are more preferred than routes from 10.2.2.2

B. Routes from 10.2.2.2 are less preferred than the default local preference
C. Routes from 10.3.3.3 are more preferred than the default local preference
D. Routes from 10.2.2.2 are less preferred than routes from 10.3.3.3

Correct Answer: C
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QUESTION 2

In which situation would you disable penultimate-hop popping?

A. When you want to bypass a penultimate router that does not support IPv6 tunneling

B. When you want to ensure the penultimate router can perform the destination route lookup
C. When you want to enforce the same class-of-service behavior through the entire LSP

D. When you want to utilize a penultimate router that supports IPv6 tunneling

Correct Answer: C

QUESTION 3

The IPv6 Neighbor Discovery Protocol (NDP) performs the same function as which two IPv4 protocols? (Choose two.)
A. ICMP

B. ARP

C.DNS

D. DHCP

Correct Answer: AB

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/ipv6-neighbordiscovery.html#:~:text=N
eighbor%20discovery%20for%20IPv6%20replaces,Discovery%20protocol%20 (NDP)%20messages.

QUESTION 4

Click the Exhibit button.
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[edit policy-options]
user@R1# show
policy—-statement directZospf {
term 1 ({
from {
protocol direct;
route-filter 172.10.1.0/24 exact;

}
then accept:

}

[edit protocols]
userfRl# show
ospf {
export directZospf:;
area 0.0.0.1 {
interface ge-1/0/0.0;

}
}

[edit protocols]
user@rRz2# show
ospf {
area 0.0.0.0 {
interface ge-0/0/0.0;
interface ge-0/0/1.0;
interface 100.0;
}

area 0.0.0.1 {
interface ge-1/0/0.0-:

}

Referring to the exhibit, which statement is correct?
A. R2is an ASBR

B. R1 is a backbone router

C.R2is an ABR

D.R1lis an ABR

Correct Answer: C

QUESTION 5
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Which two statements are true when considering logical systems? (Choose two.)

A. Logical systems do not support nonstop active routing

B. Logical systems share the master routing table and can create routing instances

C. Logical tunnels cannot be used to connect logical systems

D. Logical systems provide management separation by providing user access per logical system
Correct Answer: CD

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-logical-systemsfor-routers-
and-switches.html
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